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Question 1

Question Type: MultipleChoice

You have created the following XML Schema definition for a new Invoice Reporting service:

<uxz3d: schema mnlns:xsd="http://www. w3 . org/2001/ZMLSchema”
targetMNamespace="http://www. example. org/ainvolice >
<usd: element name="involice">
<xad:complexType=
<xad: sequence>

<x=d: element name="number” type="x=d:string"/>

<xsd:element name="date" type="xad:date"/>
<xzd:element name="amount™ type="xad:decimal’/>
{fxad:auquunc:>
</xad: complexType>
</xsd: element>

<fw=ad: achema>

The Invoice Reporting service needs to represent invoice data in a unique format. Therefore, this schema will only be used by the WSDL
definition for the Invoice Reporting service. As a result, you decide to embed the schema inside the WSDL definition. Which of the
following shows a valid way to accomplish this?



T A <definitions name="InvoiceReporting™
wmlna="http://achemas. xamlsoap. org/wadl/ "
walng: xzd="http:/Swee, wd, opg /2001 EMLSchema >
<types>
<x=d:import
targetNamespace="http: //www. example. org/invoice"/>
</typms>
<x=d: achema smlns:xsd="http://www.wd.org/2001/XMLIchema"”
targetNamespace="http: / fwww. example. org/invoice>
<xad:element name="invoice”>
<xsd: complexType>
<xsd: sequence®
“<xad: elenent name="number"™ type="wmsd:string"/>
<xzd:element name="date” type="xsd:date"/>
<xad:element name="amount"
</x=ad: sequence>
</ x=d: complexType=
</wad: element>

type="x=d:decimal "/ =

</ wad: schema>=
<fdefinitions>

~ B, “<definitions name="InvoiceReporting”
malns="http: //schemas. smlscap. org/wasdl/ ™
xmlna:xsdI"http:ffwww.wﬂ.DngZDDlHIHLSchemE"}
<typea>
<xad: element name="invoicae"
smlns:xsd="http: /Swnw. w3 . org/Z2001/ZMLEchema ">
<xsd:complexTypes
<xsd: sequence
<x5d: element name="number"” type="xsd:string"/>
<xsd: element name="date" type="xsd:date"/>
<xzad: element name="amount” type="wsd:decimal” />
</x=d: sequence>
</ xzd: complexType>
</ xad: element>
</ types>

</definitiona>

O C. <«<definitions name="InvoiceReporting”
mlna="http://achemaz.xnlsocap. org/wadl/ "
molnes: xsd="http: //wew . w3, 0pg/2001/ EMLSchema ">
<types>
<xzdrimport zalns:xsd="http:/Swwe. w3, org 2001/ EMLESchema
targetNamespace="http: //www. example. org/invoice >
<ysd:element name="invoica™>
<xsd: complexType>
<xad: sequence>
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Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

D

Question 2

Question Type: MultipleChoice

You are asked to create an XML schema for a Postal service that accepts an address and returns the corresponding postal code. You
are given the following specific instructions as to how the XML schema should be designed:

* The XML schema requires two elements named "PostalCodeLookup” and "PostalCodeResponse”.



* The "PostalCodeLookup" element must contain child elements named "address1”, "address2," "city", "stateOrRegion" and "country", in
that order. Each of these elements must have the type string.

* The "PostalCodeResponse” element must contain only the postal code as a string and this element must not have any child elements.

Which of the following XML schemas fulfills the requirements while also following the instructions?



oA <xu=zd: schema mlns: xsd="http: /Swma, w3, org /2001 XML Schema”
targetNamespace="http: ./ wwn, example. org/postal /"=
<wad:element name="FostalCodelookup”=
<wad:complexTypes
<xszd: sequence>
<xzd: element name="addressl" typs="

<xad: element name="addresaZ2" type="

<xad: element name="city" type="xsd:string"/ >
<xsd:element name="stateOrRegion” type="xsd:string"/>
<xsd: element name="country"” type="xsd:string"/=
<=fxsd: sequence>
</xad:complexTyper
</x3d: element>
<xsd:element name="FostallodeResponse™>
“wsd: complexTypes
<u=ad: Segquencex
<xsd:element name="FostalCode” type="xsd:string"/>
</ x=d: sequence>
</ nad: complexTypes
</xad:elements>
</xad: achema>

xad:string"}b
xad:string"f}

T B,  <xsd:schema xmlns:xsd="http://www.w3.org/2001/IMLEchema"”
targetNamespace="http:/ /v, exanple. org/postal /™=
“xsd:element name="PostalCodeLookup™>

<xsd:complexType>
<xsd: sequence>
<¥sd:element name="addressl" type="usd:string"/>
<xsd: element name="addressZ" type="xsd:string"/>
<xsd: element name="city"” type="xsd:string”/>
<xsd: element name="state0rRegion”™ type="ws=d:string™/ />
<xzd:element name="country” type="xad:string”/>
</ w=d: sequences
</ued: complexTypes
</xad:element>
<xad:element name="PostalCodeResponse"” type="xsd:integec"/»
</x=sd: schemar

© C.  <x=d:schema xmlns:xad="http:// wwne, wd, org/ 2001/ IMLEchema ™
targetNamespace="http://www. example., crg/postal/ ">
“<xad:element name="FostelCodeLookup™>
<xsd:complexType>
<xsad: sequence>
<xmd: element name="addre==21" type="xad:string"/>
<xsd:element name="addressZ" type="xad:string"/ >
<xzd:element name="sity" type="wad:string"/>
<xs3d: element name="stateOrRegion” type="w=d:string"/>
<xsd:element name="country” type="xad:string”/F
</ w=ad: sequencer
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Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

C

Question 3

Question Type: MultipleChoice

You are building the Quote Request service that allows other services to request the current value of a stock. You have developed the
following WSDL definition for this service:



<definitions name="QuoteReguest”
targetNamespace="http:/ /www. example. org/wadl/stocks"
mmlns: tns="http: / /www. example. org/wsdl/stocks"”
mmlns: stocks="http: / /wnw. example. org/ stocks"
xmlns="http:ff3chemas.xmlsuap.n:gfwsdl}"
smlns: xad="http: //www. w3, org/2001/¥ML3chema "
smlns: soap="http: //achemas.xmlaoap. org/wadl/=scap/ ">
<types>
<xad: schema targetNamespace="http:/ viww.example. org/wsdl/stocks">
<xad:import namespace="http:// www. example. org/ stocks”
schemaliocation="stocks.xsd"/>
</ xsd: schema>
</ types>
<message name="CuoteRegquestMessage>
“part name="CuoteRequest” element="stockz:gquoteRequest"/ >
</message>
<message name="CuoteResponseMessage™>
<part name="QuoteResponse” element="stocks:gquoteResponse"/ >
</message>
<portType name="QuoteInterfaces™>
<pperation name="QuoteDperation™>
<input message="tns: QuatelegquestMessage"/>
<putput message="tns:QuoteResponseMessage"/>
</operations
</ poctTypes

</definitions=

The "message" element named "QuoteRequestMessage" represents the request message sent to the service and the "message”
element named "QuoteResponseMessage" represents the response message that the service responds with. Your next task is to define
the concrete description for this WSDL definition and you start with the "binding” element. Which of the following represents the correct
"binding" element for this WSDL definition?



T A <binding name="QuoteBinding"” type="tns:QuoteOperation”>
<szpap:binding style="document"
transport="http://=schemas.xml=cap.org/ scap/http"/>
<gperation name="CuoteOpercation">
<=oap:operation
soaphction="http://www. example. org/Quotedperation”/>
<input>
<gcap:body use="literal"/>
</ input>
<output>
“zoap:hody use="literal®/ />
</ output>
</operation>
</binding>

B <binding name="CuoteBinding"” type="tns:uotelnterface”>
<zoap:binding style="document®
transport="http://schemas.xmlsoap. ory/ scap/htep™/ >
<operation name="QuocteOperation™=
isaap:npacatiun
soaphction="http: / wwme. example. org/Quotedperation®/>
<input>
<soap:bhody use="literal"™/>
</input>
<outputs
<soap:body use="literal"/ />
</ output>
</operations
</binding>

T €. <binding name="QuoteBinding” type="tns:QuoteCperation”>
<zcap:binding style="document"
transpnrt="http:ffzchsmua.xmlsuap.argfsaapfhttp"f}
<pperation name="QucteRequest™>
{5antupﬂratinn
soaplction="http: //uwne, example. org/QuoteCperation”/>
<input>
<soap:body use="literal”/ =
=/ inputs>
<output>
<zoap:body use="literal®/>
</ outputs>
</operation>
</binding>

0. MNone of the ahove,



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

B

Question 4

Question Type: MultipleChoice

You work for a local police department and you just finished building a new Crime Search service that allows police detectives to search
a criminal database based on personal traits. The service returns identifying information for people that best meets the search criteri

a. The schema for the service is shown here:



<xsd:schema molns:xsd="http:///wma. w3, org/ 2001/ EMLSchets
targetMNamespace="http://vmwne. example. org/police ">
<xzd: element name="PerszonSearch™>
“xsd:complexType>
<xad: sequence>
<x=d:element name="age" type="xad:decimal"/=>
<xsd:element name="hairColor" type="xsd:string"/>
<xsd:element name="eyeColor™ type="xs=d:string"/>
<xszd:element name="identifyingMarka" type="x=sd:string"/>
=/xad: sequence>
</ xad: complexType>
</ x=zd: element>
<x=d:element name="PersonSearchResponse >
“<xad:complexType>
“<xad: segquence>
“<xad:element name="personNams" typa="xsd:atring"f3
<x=zd:element name="personID" type="x=d:string"/>
<x=d:element name="commentsa" type="xad:astring"/>
<fx=d: sequence>
</xsd: complexType>
</x=d:element>
</ xsd: achema>

A police department in a neighboring region wants to start using the Crime Search service. To help them build a service consumer
program that will be able to interact with the service, they have requested that you provide them with two sample XML documents that
show typical input and output message data. Which of the following pairs of XML elements will validate with the schema shown above?



T A <PersonSearch>
<agerZi</age>
<hairfolorrblonde</hairColor>
<eyelolorrhlue</eyeColors
<identifyingMarks>scar on left arm</identifyingMarks>
</ParsonSearch>

<PersondearchResponse~
“<personName>John Doe</personiames
<perzonID=22999</personIhs
<comments*Warning: armed and dangerous.</comments>
</Parsond3earchResponse>

T B, <pol:Personfsarch
walns: pol="http://wnow, example. org/police™s
<ager25</age>
<hairColor*blonde</hairColor>
<eyeColor*blue</eyeColor>
<identifyingMarks>=car on left arm</identifyingMarks>
</pol:Personfsarch>

<pol:PersondearchResponae
Hulns: pol="http: /v, example. org/police™=
“<pergonlame=John Doe</personiames>
“personID=3595%599</personlih>
“oommentsEilarning: armed and dangerous. < commentss
</pol:PersonfearchResponse>

T C.  <personfearch targetMNamespace="http://www. example. org/police s
<agerii</ager
<hairColorrblonde</hairColor>
<eyeColorzhlue</eyeColors
<identifyingMarks>scar on left forearm</identifyingMarks>
</Personfearch>

<ParsondearchResponse targetNamespace="http:/ www.example.org/police™-
“personName>John Doe</personName>
<personID>99999</personiID>
<comments*Warning: armed and dangerous.</comments>
</PersondearchResponse>

0. Al of the above.



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

B

Question 5

Question Type: MultipleChoice

A new requirement comes your way to create a Pay service that needs to be able to retrieve employee payroll information. To fulfill this
requirement, you first define the following XML schema (called "Pay.xsd") that describes the structure of the messages that will need to
be exchanged by the Pay service:



<x=d: schema xamlns:xsd="http://www.w3.org/2001/XML8chema”
targetNamespace="http://wmw. example. org/pay">
<xsd:element name="PayLookup">
<xsd:complexType>
<xsd: sequence>
<xsd: element name="empNumber"” type="xsd:string"/>
</fxad: sequence>
</xsd:complexType>
</xsd: el ement>
“<xad: element name="PayLookupResponse’>
<xad:complexType>
<xs3d: sequence>
<xsd: element name="empNumber"” type="xsd:string"/>
<xsd:element namse="annualS3alary"” type="xsd:decimal"/>
<xsd:element name="yearToDatefalary"” type="xsd: decimal™/>
<fxad: sequence>
“fxsd: complexTypes
</xsd: element>
</xsd: schema>

The "PayLookup” element is intended to represent the request message received by the Pay service. It contains the "empNumber" child
element that will provide the employee number used by the Pay service to carry out the search. The "PayLookupResponse” element is
intended to represent the response message returned by the Pay service after it has collected the requested employee payroll data. This
element contains the same "empNumber" child element along with a "annualSalary” child element and a "yearToDateSalary" child
element. Your next task is to incorporate this schema into the Pay service's WSDL definition. Which of the following correctly maps
elements declared in the XML schema to WSDL elements?



A <definitions name="Pay"
targetNamespace="http: / /v, exanple. org/wadl/pay™
smlns="http: /fachemas,. smlscap.org/wadl/"
smlns: pay="http: /v, example. org/pay"”
¥mlns: xsd="http: //www. w3 . org/Z001/IML3chema ">
<types>

<xsad: schema targetNamespace="http://wiw, example, org ">

<xsd:import namespace="http:// wwme. example. org/pay"”
schemalkocation="Pay.x=sd"/>

</xad: schema>
</ types=
<megzage name="getPayRequestMessage">

<part name="RequestParameter” element="pay:PayLoockup"/>
</measage>
<message name="getPayReaponseMessage">

<part name="ResponseFarameter"’ Blumunt="pay:PuyLaakupRsznnsc"f*
</measage>

</definitions>

T B. <definitions name="Pay"
targetNamespace="http: / /v, example. org/wadl/ pay "™
mnlne="http://schemas. xmlsoap. org/wadl/ "™
swalng: pay="http: //wewe, exanple, org/pay™
xmlna:xsd="http:ffwww.wjﬁurgfﬂﬂﬂleMLEchema"}
<typaa>

<x=d: achema targetNamespace="http://www.example.org">
<x=d:import namespace="http://www. example. org/pay"”
schemaLocation="Pay.xsd"/>
</xad: schema>
=/ types>
“message name="getPayRequestMessage”>
“<part name="pay:PayLookup™/=
</ meazager
“message name="getPayResponseMessage >
“part name="pay:PayLookupResponse™/>
</measage>

</definitiona>

T €, =<definitions name="EBay"
targetﬂamespaqa="http;ffwww.sxampla.qrgfﬁadlfpay"
smlns="http: //achemas, mlsoap. org/wadl/"
smulna: pay="http: /Swnew . example. org/pay™
smlns: xsd="http: / Svwww. w3 . org/Z2001/EZMLEchena ">
<typea>

<xsd: schema targetNamespace="http:/ v, example. org™>
<xsd:import namespace="http://www, example, org/pay"”

schemaLocation="Pay.xsd"/>
& Loragd s ambhearm s



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

A

Question 6

Question Type: MultipleChoice

You have written the following XML schema to describe a message that contains employee payroll information:



<gchema sxmlns="http:/ /v, w3, ocg/ 2001/ ZMLSchema ™
targetMNamespace="http://www. example. org/emp "=
<gplement name="employee">
<complexType>
<gegquence>
<element name="salary" type="decimal"/:
<element name="withholdings" type="integec"/>

<elsment nams="state” type="Tstring"/>

<glement name="ssn" type="string"/>
</sequence>
<feomplexType>
</element>

</ schema>

Your company's enterprise architecture team reviewed your schema to ensure that it conforms to internal design standards used for
XML development. They have notified you that although your XML schema is technically correct, it must use the "xsd" prefix for the XML
Schema namespace, rather than making it the default namespace. Which of the following revised XML schemas complies to this internal
design standard while retaining its original meaning?



L

<xsd: schema sanlns: xad="http:/ /e w2, ocg/ 2001/ EMLSchena
targetNamespace="http://www. example. org/emp ">
<xgd:element name="employes=
“x=d:complexType>
<xsd: sequence>
<xsd: element name="salary"” type="x=sd:decimal"/>
<xsd: element name="withholdingsa" type="xsd:integerc"/>
<xsd:element name="state"” type="Txsd:string"/>
<xsd:element name="s3n" type="m=ad:string"/>
<fx=d: sequencesr
“/wad: complexTypes
</xsd: element>
</xad: schema>

<xsd: schema xmlns:xsd="http:/ www.w3.ocg/ 2001/ ZHML3chema ™
targetNamespase="http: //www,. exanple. org/ enp ">
<xad: element name="employee">
“<usd:complexType>
<xsd: seguence=
“ysd: element name="zalary" type="decimal"/>
<xad: element name="withholdings" type="integer”"/=
<x=d: element name="state” type="string"/ /=
<x=sd: element name="s=sn" type="string"/>
</ x=d: sequence>
ifxsd:cumplexTypu}
</x=sd: element>
</xsd: schema>

<yw=ad: schema xmlna:xsdz"http:ffwww.wﬂ.DrngDleKMLSchama"
targetNamespace="http: / /wnr. w3, org/2001/XML8chema ">
<xad: el ement name="employee'>
<xsmd:complexType>
<xsd: sequence>
<xsd: element name="salary"” type="wsd:decimal"/>
<xsd: element name="withholdings" type="xsd:integer”/>
<uxsd: element name="state” type="wmsd:string”/>
<ux=zd: element name="ssn" type="w=sd:straing”/=
</ w=d: sequencesr
</xzd: complexType>
<fxsd: element>
</xad: schema>

MNone of the above,



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

A

Question 7

Question Type: MultipleChoice

You are building the Balance Request service that allows customers to request their current account balance. You have developed the
following schema (called "balanceRequest.xsd") to define the elements used in the messages exchanged by the service:



<x=d: schema xmlns: xsd="http:/ wnoe. w3, org/Z001/XMLESchema ™
targetMamespace="http: //wwne. example. org/customers ™=
<xgd: element name="balanceRegquest">
<xad:complexType>
<xad: sequence>

<xad:element name="

custID" type="xad:string"/>
<fxsd: segquence>
</xsd:complexType>
</x=d: element>
<xs5d: element names="balanceResponse">
=xsd:complexType>
<xsd: sequences
<xgd:element name="custID" type="xsd:string”/=
“<xad:element name="balance” type="wxad:decimal™/>
</xad: segquence>
<fxad: conplexType=
</xad: element>
</x=d: schema>

The "balanceRequest" element is to be used as the basis of the request message sent by a customer to the service. The
"balanceResponse"” element is to be used as the basis of the response message sent out by the service. Which of the following WSDL
definitions correctly describes this service?



T A <definitions name="BalanceRequest"”
targetNamespace="hetp: //www, exanmple. org/wadl/customers"™
mnlns: tns="http:/ /www. example. org/wadl/customers"
mnlns: cust="http: //www. example. org/oustomers™
mnlna="http://schemas. mmlsoap. org/wadl/ "™
xmlnez: xsd="http://www.w3.0rg/2001/XMLEchema ">
<types*

<x=d: achema targetNamespace="http://www.example. org/wsdl/customers">
<x=d:import namespace="http://wwe. example. org/customers”
achamaLucutinn="hulunceRequust.xad"f}
</xmd;: schema>
</types>
<message name="HalanceRegquestMessage>
<part name="BalanceReguest™ element="cust:balanceReguest'/>
</ messages
“<message name="BalanceResponseMessage">
<part name="BalanceResponze” slement="cust:balanceResponse”/>
</megsage>
<portType name="Balance">
<operation name="BalanceRegquest">
<input message="tns:BalanceRequest"/>
<putput message="tns:EBalanceRe=zponse"/>
</ operation>
</portType>

</definitionss>

B <definitions name="BalanceReguest™
targetNamespace="http: / /v, example. org/wadl/customers™
wulns: tns="http: /Swee, exanple. org/wadl/customers®
sulns: cust="http: / /wwne, example. org/customers™
xmlns="http://achemas=s.xomlscap. org/wadl/"
xmlns: xsd="http: / /vwww. w3 . ocg/2001/ZMLSchema ">
<typea>

<xsd:schema targetNamespace="http:/ /v, exanple, org/wadl/customers">
<xsd:import namespace="http:/ wwne. example. org/customers™
schemaLocation="balanceRequest, xsd"/>
</wad: schema>
</types>
“message name="BalanceRegquestMessage”>
“part name="BalanceRegqueat” element="cust:bhalanceReguest"/ >
“/megsage>
<message name="BalanceResponseMeggage >
<part name="BalanceResponze" element="cust:balanceResponze"/ >
4fmaaaage>
<portType name="Bal ances">
<gperation name="BalanceRegquest">
<input message="cust:balanceReguest™/>
<putput message="custibalanceResponse™/>
</operation>



T C, <definitions name="BalanceRequest"

targetNamespace="http://www. example. org/wasdl/customecrs"™
xmlns: tns="http: / /www. example. org/wadl/customers"
wnlns: cust="http://www. example. org/customera™
sulns="hetp: //achemas, smlsoap. org/wadl/"
smlns: xsd="http: //vnne, wl . org/2001/ XML 3chema ">
<hypea*
<x=d: schema targetNamespace="http:// www. example. org/wadl/customers >
“<usd:import namespace="http:/ wme, example, org/customers”
schemalocation="balanceRegquest, x=d /=
</x=d: schema>
</ types>
<mesgsgsage name="BalanceRegquestMeszsgage™=
<part nams="BalanceRegquest" element="cust:balanceRegquest'"/>
{fmaaaagub
<message name="BalanceaRessponssMessacgs'>
<part name="BalanceResponse” element="cust:balanceReaponse"/>
</message>
<portType name="Balance">
<pperation name="BalanceReguest™=
“<input message="tns:BalanceRegquestMessage”/>
<output message="tns:EBalanceResponseMessage”/>
</ operation=
</portType>

</definitions>

0, Mone of the ahove,

Options:

A- Option A
B- Option B



C- Option C
D- Option D

Answer:

C

Question 8

Question Type: MultipleChoice

You have developed a Library service that provides an "AddBook" operation that is able to add a book record to a library system. This
operation accepts a message based on an "AddBookRequest" element that contains book record details, such as its author and title. It

then responds with a message based on the "AddBookResponse” element that acknowledges that the book was successfully added.
Below is the current WSDL definition:



<definitions name="Library"
targetNamespace="http:/ /vwww,. example.org/wasdl/libracy"
smlns: tna="http: //www. exanple. org/wadl/library"
xmlna="http:ffschumna.xmlsuup‘urgfwsdlf"
xmlns:1ib="http: /S wwe. example. org/librarcy"
smlns: xad="htep: [Suwwne.wd . org/2001 /XML 3chema ™
mmlns: soap="http: //schemas. xanlsocap. org/wedl,/ soap/ ">
<types>
<x3d: schema targetNamespace="http:/ www. example. org™=
“<xad: import namespace="http:/ /www, example. org/ libracy"”
schemalocation="Library.xsd"/ =
<fxsd: schema>
</ types>
<message name="AddBookPeguestMessage">
<part names="RequestParameter"
element="1ib:AddBookRequest"/ >
</message>
<message name="AddBookResponseMessage”>
<part name="ResponseParameter”
element="1lib:AddBookResponse"/>
“</messager
<poetType name="LibraryCirculation">
<pperation name="AddBook ">
“<input message="tns:AddEoockPRegquestMessage”/>
<gutput message="tns:AddBockResponseMessage’ />
<fnperatian}
{fpnrtTypa}

</definitions>

You are asked to extend this WSDL definition in order to add a new "DeleteBook" operation that is able to receive a request message
based on the "DeleteBookRequest" element and reply with a response message based on the "DeleteBookResponse" element. Which
of the following describes the minimum number of message, operation and "portType" elements that will need to be added in order to
fulfill these requirements?



Options:

A- 2 'message’ elements, 2 'operation’ elements, 1 'portType' element
B- 2 'message' elements, 2 'operation’ elements, zero 'portType' elements
C- 1 'message’ elements, 1 'operation’ element, 1 'portType' element

D- 2 'message’ elements, 1 'operation’ element, zero 'portType' elements

Answer:

D

Question 9

Question Type: MultipleChoice

You are in the process of designing a service that manages content in a database of medical images. The service is able to add, update
and delete images in the database. Each of these three functions requires a separate message exchange with the service. Therefore,
the XML schema for this service provides an "addimage" element, an "updateimage" element and a "deleteimage" elements for the
request messages, and separate "addimageResponse,
response messages.

updateimageResponse" and "deletelmageResponse"” elements for the

Which of the following describes the minimum number of WSDL "message”,
that the WSDL definition must have for this service?

operation”, "portType", "binding", and "service" elements



Options:

A- 6 'message’ elements, 3 'operation’ elements, 1 'portType' element, 1 'binding’ element, 1 'service' element
B- 3 'message' elements. 3 'operation’ elements, 1 'portType' element, 1 'binding' element, 1 'service' element
C- 6 'message’ elements, 6 'operation’ elements, 3 'portType' elements, 1 'binding’ element, 1 'service' element

D- 6 'message’ elements, 3 'operation’ elements, 3 'portType' elements, 3 'binding’ elements, 1 'service' element

Answer:

A

Question 10

Question Type: MultipleChoice

You have created the following WSDL definition to describe a PO service that accepts purchase orders submitted by customers:



<definitions name="POService"”

targetNamespace="http: /Sww, example. org/wasdl/ po®
samlns="http://schemas.xmlsoap. crgfwadl/"
xmlns: po="http: //www. example. org/po”
amln=: xad="http: //www.w3.o0rg/2001/ ML 3chema ">
<types>

<xad: schema targetNamespace="http://vww.example.org">

<xsd:import namespace="http:// www.example.org/po"
schemalLocation="purchaseOrder.xsd"/>

</%xad: schema>
</types>
“message hame="zubmitPOMeszage”>

<part name="FP0" element="po:purchasedrdecr”™/>
</messages
<portType name="submitPOInterface”>

<operation name="submitPo">
<input messaga="submitPDHessagE"f}
<aneratiunb
{fpnrtTypu}

</definitions>

However, when you try to use this WSDL definition, your system returns an error message stating that it is invalid due to a problem with
namespaces. Which of the following revised WSDL definitions correct the problem?



© A <definitions name="PoService"”
targetNamespace="http: //wnor, example, org/wadl/po®
smalns="http: //achemas, mlsoap. org/wadl/ "
xmlns: tns="http://www. example. org/po™
xmlns: po="http://www. example. org/po"
yxmlns: xsd="http: //www.w3.org/2001/ZMLEchema ">
<typea>
<x=d:achema targetNamespace="hetp:// wnw, exanple, org™>
<xsd:import namespace="http://wme. example. org/po”
achemalLocation="purchaselrder.xsd"/ />
</ wad: schemas
</ types=
“meszage name="zubmitPOMessage >
Zpart namse="PO" element="po:purchaseOrder™/>
</meaaage>
<portType name="submitPoOInterface >
<operation name="submitPOo">
<inpiat message="tna: submitPOMessage™/>
</opesration>
</portType>

</definitions=

T B. <definitions name="FPOService"”
targetNamespace="http:/ /v, exanple. org/wadl/pa”™
xmlns="http://achemas, anlsoap. org/wadl/ "
xulns: tns="http: //wwe, example, org/wadl/po”
wmlng: po="http://www. example. org/po”
molns: xsd="http: /fwww . w3 . 0eg /2001 XML Schema ">
<types>

<x=d: gchema targetNamespace="http:// www. example. org™=
<x=d:import namespace="http://www, example. org/po”
gachemaLocation="purchasedrder. xad"/ >
</xsd: schema>
{ftypus}
“message name="submitPOMesasage ™=
<part name="PO" element="po:purchaseCrder™/>
</meszage>
<portType name="submitPOInterface™>
<gperation name="submitPO">
<input message="tns: submitPCMessage"/>
</operation>
</porclype>
</definitions>

T C. <definitions name="POService”
targetNamespace="http: //wwn. exanple. arg/wadl/pa™
smlns="http: //schemas. xmlsoap. org/wadl/"

Mulns: tns="http: //schemas. onlsoap. org/wadl/ ™



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

B
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